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R { y=R( I - use )

GMF×±.*NN
. ring .

F-i.
. ±.mail, Fy= Nay .

mg ✓ untainted.
•

' 't.mgyrtjz

mnf= E 1- any = ¥
N - mgasf=mT[mi=

. mgangniny
-minted"ring =

.mg#fFa-mxTtI?Emij=.mg+mgaiy+mxIfcng=.mqHaoiq)+miitEfFE
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As before
, simplify for x. g. x. ,j<< I

keep first and second orders
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mi= - mg '£fFa . MET'E= - mg 'E+mgs¥s . Enix . zmzjg

÷Fax ⇒ ×=Aws(wt+s )
, w=fgz

third order : neglect

ring = Yz 1- any = Tz

mj= - mg ( I - a- ED .im#f2.tmxjtLizI.x' =

Cohen order

my = - mg ( YE - yhz ) + met
R

Tugly ! But
,

can substitute solution tax

and make sure it's a solution of this one
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f
R x 't ( R - y5=R2 ← n¥÷yz=r2!!

IT Y
'

- 2Ry tx
'

= 0

^ T y=
R.tt#xRtRCl - II )

• - - - . - . - -kow'{•n#my y=zy÷ ← satisfies yao×

ring = E 1- any = ¥ discard ZR -

zkrsolutron

Now let's take × solution x= xoaswt

and use y=x42R to see it y equation is satisfied

x= xouswt y= Iq = IEcoiwt
ytahfzzuilwt

it = . Xowninwt og=- xyzw .
uswt . ni nwt = - xzntzwimn Zwt

II xiuimiwt
y ; xyz uiwiwtniiut

if =* ×yLw2cn2wt �3�
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k¥52 =

iz
( xiuiniiwttxotgwioiwtnnwt ) .

÷second order fourth order
a ←

- -

g (Tf -uk÷)=gHg÷aiwt - Th as
" wt ) w2= of

← xg÷iu2ut  I.
- g ¥ uiwt  + Et niiwt

- xigd cos zwt  I
- xizsewiwt  + xizat miiwt

cos 2wt  I coiwt - miiwt

T true !
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